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Cluster: 0051 ptr; resid: 0.31; r/c: 28/61

x.range

upstream meme PSSM #1; e=1.5e+04
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58285

8112

9860

string −500 −400 −300 −200 −100 −1
58285NA

7678−0.07
49843−0.12
46330−0.12
40435−0.13
14552−0.18
34894−0.18
46068−0.22
34889−0.27

573−0.28
16803−0.34
43940−0.39
34146−0.40
54495−0.41
30636−0.43
45818−1.70
11916−2.10
43555−2.34

9860−3.72
8926−4.47

49533−4.52
13725−5.11
55177−6.22
32923−6.47
42636−6.70
43194−8.84
16963−9.19

8112−9.24
log10(P) upstream meme1 2 log10(P.clust)=−2.75; 28 seqs; 28 uniq

c(0.5, 2.5)
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